Hallefors BK
Agg 3 2022-04-05

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 3 209 62.20  Annika Sundelin - Bengt Karlsson 29538 14277 Solstabridgen - Hallefors BK
2 12 191 56.85 Johan Karlsson - Pierre Berg 32229 3687  Hallefors BK
3 5 184 54.76  Dan Allvin - Ronny Thanberg 23982 51103 Hallefors BK
4 11 183 54.46  Jonny Lank - Pernilla Fors-Nemez 84395 89796 Hallefors BK
5 15 180 53.57 Asa Karlsson - Astrid Tengelin 9769 64076 Hallefors BK
6 1 173 51.49 Torbjorn Strom - Lars Wetterskoog 32232 64144 Hallefors BK
7 7 172 51.19 Roland Axelsson - Walter Hogberg 60773 60775 Hallefors BK
7 10 172 51.19 Benny Bjur - Sabina Wilhelmsson 4070 67636 Hallefors BK
9 8 171 50.89  Curt Andersson - Jérgen Wikman 13469 32238 Hallefors BK
10 9 170 50.60 Maria Erninge - Ulla Carlsson 81736 91144 Hallefors BK
11 16 164 48.81  Ulla Werdin - Niklas Collin 17904 64078 Hallefors BK
12 6 162 48.21 Peter Nemez - John-Olov Krohn 89797 4064  Hallefors BK
13 14 149 44.35  Ake Sandstrém - Gunilla Gustafsson 89804 64075 Hallefors BK
14 13 143 42.56  Dennis Stephansen - Tommy Wilhelmsson 4055 42453 Hallefors BK
15 4 136 40.48  Gun-Britt Andersson - Margareta Berglof 81735 19723 Hallefors BK
16 2 129 38.39  Sven Gustavsson - Marianne Hogblad 23844 81737 Hallefors BK
1 443 2 4 ED7 3 49872
Nord v E87 Ost v K965 Syd v EKD
Ingen ¢ 107432 NS + K5 ov ¢ KKn6
#E53 #D653 #DKn2
4 EKDKn #1098 4532 4 Kn964 aKKn4 465
vD106432 vK9 v EKn8 vD10 v 108 v Kn975
+8 ¢ 65 + D64 + EKn1093 +D9752 +ES8
&Kn2 #KD10876 #EKKN10 498 987 #EK654
47652 4 K108 « ED103
v Kn5 v 7432 v 6432
¢+ EKDKn9 ¢ 872 +1043
294 742 #103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 5¢ S-2 oA -100 140 00|14 7 2&V= a7 90 140 00| 7 15 24 N= *A 110 140 0.0
9 4 3vV= 2 -140 120 20|16 12 3¢ O= 48 -110 120 20| 1 16 240-1 s A 100 120 2.0
10 2 2vV+2 a4 -170 90 50|15 6 2NV= v6 -120 100 4.0|13 2 24 N-1 *A -50 10.0 4.0
14 7 2vV+2 43 -170 90 50| 3 5 2NV+1 &5 -150 70 70| 4 6 2#0-= s A -90 70 7.0
16 12 5¢DS-2 &A -300 6.0 80|10 2 INV+2 v5 -150 70 7.0(10 5 240+= v6 -90 70 7.0
3 5 4vV= 2 -420 20 12.0|13 1 INV+3 3 -180 40 100|11 3 INN-2 *A -100 4.0 10.0
13 1 4v V= +3 -420 20 120| 9 4 INV+4 v5 -210 20 12.0{14 8 24 0+1 43 -110 2.0 12.0
15 6 4v V= 2 -420 20 120| 8 11 3NV= v5 -400 0.0 140| 9 12 2NN-3 *4 -150 0.0 14.0
4 4« KDKn 5 49753 6 4 E75
Vast vD Nord vD7532 Ost vDKn3
Alla + KD1096 NS ¢ K943 ov ¢ Kn53
£10642 »- #10972
49764 & E1082  EK8 « DKn6é 4Kn32  4K109
v8732 vE6 vE98 vKn1064 v1084  vEK9752
¢72 +E84 ¢D107 +Kn ¢ D94 + 1086
#953  #EDKn7 #KKn76 #ED543 #DKn83 #6
453 41042 « D864
v KKn10954 vK v6
¢ Kn53 + E8652 ¢ EK72
K8 £10982 &»EK54
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 3¢DN= ©vA 670 140 00|12 4 4v0-2 &T 100 140 00|10 1 INN+1 vA 120 140 0.0
10 5 2vS+1 a4 140 11.0 30| 5 7 5NV-1 +3 50 120 20| 9 14 2v0O-1 *A 100 120 2.0
14 8 2v S+l 3 140 11.0 30|16 2 540= vK -400 100 40| 8 15 24 N-1 »6 -50 70 7.0
11 3 2¢ N+1  vA 110 80 6.0 8 15 3NV +1 v3 -430 6.0 80|11 6 2NN-1 vA -50 70 7.0
13 2 3¢ N-1 vA -100 6.0 80| 9 14 3NV +1 +3 -430 6.0 80|13 3 3&#N-1 vA -50 70 7.0
116 24 O= v5 -110 40 100|10 1 3NV+1 v3 -430 6.0 80|16 2 3&#N-1 vA -50 70 7.0
7 15 34 O= *K -140 1.0 130(11 6 3NV+2 v5 -460 10 130 5 7 4#N-2 vA -100 2.0 12.0
9 12 24 V+1 vQ -140 1.0 130(13 3 3NV+2 v3 -460 10 130|12 4 3NN-3 vA -150 0.0 14.0
7 4 K10875 8 4 D1043 9 4762
Syd vK Vast vEK4 Nord v D93
Alla + D632 Ingen ¢+ Kn3 ov + Kn6
*K102 +Kn964 +D10642
4 Kn « E964 4 E75 & KKn96 4D 4 Kn105
v 1042 v EKn965 vD5 v 632 v E864 vKn1075
¢ EK1098 ¢ Kn74 + K7654 ¢ ED9 ¢ K97542 ¢ D3
#8753 *9 «D83 *E72 *K8 #E975
4 D32 482 « EK9843
vD873 vKn10987 vK2
+5 ¢ 1082 ¢+ E108
#EDKn64 K105 &Kn3
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 16 44 N= 9 620 140 00| 3 16 3NV-2 »6 100 13.0 10|12 3 24 S+1 v6 140 140 0.0
10 14 24 S+1 9 140 11.0 3.0|13 4 3NV-2 *4 100 13.0 10| 2 6 24 S= +Q 110 11.0 3.0
12 7 24 N+1 &9 140 11.0 3.0(11 2 2¢ V= vA 90 10.0 40|14 11 24 S= v6 110 11.0 3.0
13 4 24 S+2 vT 130 80 6.0[10 14 2¢ V+1 vA -110 80 6.0 7 9 34S-1 8 -50 70 7.0
11 2 2v 0= +5 -110 6.0 80|15 9 3¢ V+1 a4 -130 6.0 80(13 5 34S-1 vA -50 70 7.0
1 5 44DN-1 &9 -200 3.0 110| 1 5 24 0+1 %J -140 40 100| 1 8 44 S-2 «8 -100 3.0 11.0
6 8 44 N-2 9 -200 30 11.0|12 7 INV+2 a4 -150 20 12.0|15 10 44 S-2 2 -100 3.0 11.0
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15 9 44 N-3 &9 -300 0.0 140| 6 8 24 O+2 vJ -170 0.0 140|16 4 3¢ V= a7 -110 0.0 14.0
10 « K765 11 « EDKn 12 # EKn5
Ost v 82 Syd v 983 Vast v EK6
Alla *4 Ingen +D NS + D87
#1097432 #EK9643 #KD64
«E43 #1098 # 982 « K654 & 842 10973
vEKn5  vK1097 v Kn62 v D754 vD1098 v732
¢E102 ¢ DKn873 4109543 ¢ KKn87 ¢ K932 ¢ Knl04
#KDKNn5 #6 *Kn7 5 #52 #Kn97
& DKn2 « 1073 « KD6
v D643 v EK10 v Kn54
+ K965 ¢ E62 ¢ E65
*E8 «D1082 #E1083
Par  Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
7 9 2¢ O= a2 90 140 00| 1 4 34DN+2 49 670 140 00| 1 4 6NS= ¢2 1440 140 0.0
15 10 2NO = +6 -120 12,0 20| 5 16 3NN+3 7 490 120 20| 3 7 3NN+2 oT 660 110 3.0
1 8 2NV+1 ¢4 -150 10.0 4.0| 3 7 3NN+2 44 460 100 40| 8 10 3NN+2 3 660 110 3.0
16 4 2NV +2  &T -180 80 6.0|11 15 5 S= v2 400 70 7.0| 5 16 3NN+1 &7 630 70 7.0
13 5 2NV+3  #4 -210 6.0 80([14 12 54S= *3 400 70 7.0[14 12 3NN+1 T 630 70 7.0
12 3 2NS-3 &K -300 4.0 100| 8 10 3#S+2 3 150 40 100| 2 9 6#N-1 ¢4 -100 20 12.0
2 6 3NV+2  &T -660 10 130 2 9 6#S-1 a2 -50 1.0 13.0(11 15 6NN-1 a7 -100 20 12.0
14 11 3NV +2 v2 -660 10 130(13 6 6#S-1 9 -50 10 13013 6 6NS-1 a4 -100 20 12.0
13 » EK5 14 « 10754 15 « KD63
Nord v Kn82 Ost v 109732 Syd v Kn3
Alla ¢+ EKD Ingen ¢ DKn3 NS ¢ KKn87
#7643 &3 #DKn10
49832 4764 «EDKn8 4K96 4E1074 #Kn8
vED95 v1076 vK v EKn86 vK872 vEDI106
€732 4854 ¢ K10942 + 86 +D2 ¢ E109
#Kn2  #KD98 *EK4 #DKn87 #K53 *7642
« DKn10 & 32 & 952
v K43 v D54 v 954
¢ Kn1096 ¢E75 ¢ 6543
#E105 #109652 #E98
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 14 3NN= &K 600 100 4.0| 1 14 6NO-2 &T 100 140 00(15 1 3v0O-1 a2 50 140 0.0
3 10 3NN= v6 600 100 40| 9 11 6NO-1 *6 50 120 20| 3 6 3v V= *Q -140 9.0 5.0
4 8 3NN-= v6 600 100 40| 4 8 4aV= 3 -420 100 40| 5 9 2vV+l 2Q -140 9.0 5.0
13 7 3NN= +8 600 100 40| 3 10 3NO+1 %2 -430 70 7.0[10 12 2¢ V+1  #Q -140 9.0 5.0
16 6 3NN-= +K 600 100 40|16 6 3NO+1 42 -430 70 7.0(|13 8 3v V= 43 -140 9.0 5.0
2 5 3NN-1 &K -100 20 12.0| 2 5 3NV+2 +4 -460 20 120| 2 14 3y V+1l vJ] -170 20 12.0
9 11 3NN-1 *9 -100 20 12,012 15 4NO+1 &2 -460 20 120| 4 11 3y V+1l &K -170 20 12.0
12 15 3NN-1 *9 -100 20 12.0|13 7 3NV +2 v3 -460 20 120| 7 16 2v V+2 #Q -170 20 120
16 #1092 17 «E43 18 « Kng4
Vast v 432 Nord v 65 Ost v EKn109
ov ¢ K83 Ingen ¢ D4 NS ¢ KKn82
#KD65 #EKDKn92 53
4 E85 4 DKn763 4KD10 4985 4972 « K106
vKn976 vEK v K98 vED1072 v43 v K852
¢ Kn974 ¢ 1052 ¢ EKn98 ¢ K762 + ED6 + 10974
+93 #EKn4 #753 *4 #KD1087 #Kn2
a K4 &« Kn762 « ED53
vD1085 v Kn43 vD76
¢ ED6 ¢ 1053 +53
10872 #1086 #E964
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 16 34 O-1 *8 100 140 0.0(11 1 1aN= 2 70 140 00| 6 10 INN+2 v2 150 120 2.0
3 6 INO= v8 90 120 20|16 8 4v0O-1 *6 50 120 2.0(11 1 INN+2 v2 150 120 2.0
10 12 24 O= v5 -110 80 6.0{13 9 5&N-2 vA -100 10.0 4.0|15 2 INN+2 T 150 120 2.0
13 8 24 O= v5 -110 80 6.0[14 3 3vO= *6 -140 80 6.0(16 8 34 S= v3 140 80 6.0
15 1 24 O= v8 -110 80 6.0 5 12 4#N-3 vA -150 6.0 80(14 3 INN+1 T 120 6.0 8.0
2 14 INO+1 ¥5 -120 30 110 4 7 3vO+1 &T -170 4.0 100| 5 12 INV= a4 90 4.0 10.0
5 9 INO+1 &8 -120 30 11.0{15 2 3v O+2 &6 -200 20 120| 4 7 24S-1 &K -100 1.0 13.0
4 11 24 O+1 +A -140 0.0 140| 6 10 54aDN-4 ©vA -800 0.0 14013 9 2NS-1 *8 -100 1.0 13.0
19 & Kn97 20 » EK86 21 # 109632
Syd v Kn1075 Vast v KKn Nord vKn
oV +4 Alla + K1076 NS ¢ Kn6
»EK983 #Kn76 #K10963
«EKS5 «D104 « 109 aKn 454 « D87
vE962 vD43 v7642  v853 vEK943 ¢D1087
+1098 ¢ DKn6 ¢ED ¢ Kn9853 ¢104 ¢ E972
#1062 #DKn74 #EKO985 £10432 #E852 &74
#8632 « D75432 « EKKn
vK8 vED109 v 652
¢ EK7532 ¢42 ¢ KD853
&5 «D #DKn
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 15 2v V-3 *4 300 140 0.0| 3 15 44 S+1  v7 650 100 40| 1 3 24S+2 ©vA 170 120 2.0
9 16 2v V-1 *4 100 120 20| 7 11 44 S+1 A 650 100 40| 5 14 24 S+2 YA 170 120 2.0
12 2 24 S= 4 A 90 9.0 50(12 2 44 N+1 &3 650 100 4.0(16 10 24 S+2 YA 170 120 2.0
13 10 2¢ S= LY 90 90 50|13 10 44 S+1 #A 650 100 40| 7 2 4v V-2 *J 100 8.0 6.0
5 8 Pass 3.0 11.0|14 4 44 S+1 A 650 100 40| 6 9 4v V-1 3 50 50 9.0
6 1 Pass 30 11.0| 6 1 24 S+3 #A 200 4.0 10.0| 8 12 4v V-1 *J 50 50 9.0
7 11 Pass 30 11.0| 5 8 24 S+2 #A 170 10 13013 11 3v V= *J -140 20 120
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14 4 Pass 3.0 11.0( 9 16 34 S+1 &A 170 1.0 130| 4 15 3v V+1 *J -170 0.0 14.0
22 s E2 23 109742 24 109754
Ost v EKn8542 Syd v EKKn103 Vast vKn3
oV + D62 Alla ¢- Ingen ¢ 74
&D5 832 &#Kn732
487643 & KD1095 « D5 & Kn3 & Kn6 & D832
v3 v KD96 vD2 v874 vD10 v E9864
¢ EKn843 ¢ K97 ¢ EKKn97 ¢ 10643 +D1053 ¢+ E86
109 &6 &KD94 &#E765 #D10954 &8
& Kn « EK86 & EK
v 107 v 965 v K752
+ 105 + D852 ¢ KKn92
&EKKN87432 &Knl0 &EK6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 9 5#S= 43 400 140 00| 2 4 44 S+2 *A 680 130 10| 6 14 34 S= vQ 140 13.0 1.0
5 14 54 S-1 a3 50 11.0 30| 7 10 44 N+2 *4 680 13.0 10|15 5 24 N+1 &8 140 13.0 1.0
13 11 54 S-1 a3 -50 11.0 30| 8 3 INV-4 vA 400 100 40| 9 1 INS-1 &4 -50 10.0 4.0
4 15 54DS-1 ¢3 -100 70 7.0(11 16 34 N+3 v8 230 80 6.0 2 4 34S-2 vT -100 4.0 10.0
16 10 54D S-1 438 -100 70 7.0( 6 14 3v N+2 +3 200 6.0 80| 7 10 2NS-2 &4 -100 4.0 10.0
8 12 44 O= &A -620 40 100| 9 1 1e V+2 vA -110 40 100| 8 3 3NN-2 a3 -100 4.0 10.0
7 2 44DO= &A -790 20 120(15 5 4e¢ V= vA -130 20 120(11 16 34 S-2 vT -100 4.0 10.0
1 3 5vyDN-4 &6 -800 0.0 14.0|13 12 1INV +2 vK -150 0.0 14.0|13 12 2NS-2 vQ -100 4.0 10.0
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